CCM8 – Quarter 1 - Week 5
	

	Problem 1
	Problem 2
	Gridded Response

	




Monday







	Kyle is making a model airplane. He is using the scale  If the actual length of the plane’s wing is 64 feet; how long should the wing be in his model?


	Rita is making cakes. In 5 cakes she uses  of sugar. How much sugar is in one cake?


	Problem 2[image: Grade 6 Math Grid.png]

	Tuesday
	Solve for x. 



	Simplify



	Problem 1
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	Wednesday

	Jacob earned the following amounts the last three weeks. How much does Jacob earn per hour?

[image: ]
	Jeff is painting lines on a basketball court. What is the area inside the lines?
[image: ]

Round your answer to the nearest square meter. 
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Thursday







	What is the area of the non-shaded area to the nearest hundredth?
[image: ]

	Food Lion grocery store advertises a special on 2-liter bottles of soft drinks. The first bottle purchased is $1.50 and each bottle after that is $1. Write an expression that can be used to find the total cost. Find the total cost if you purchase 5 bottles. 


	Problem  
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	Friday

	A triangular right prism is cut perpendicular to the base. What is the shape of the cross section? 


	When Sarah planted a tree in her yard it was 24 inches tall. It grew at a rate of 2.5 inches per month. The tree is now 41.5 inches tall. 

How many months has it been since Sarah planted the tree?


	Problem 2
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Mike eared the amounts listed in the table below.

Hours Worked (h) | Amount Earned (£)

$183.75
$269.50

Which equation could be used to find the amount of money Mike earns, £, for any
number of hours worked, h?

A E=1875+h
B E=1225+h
c  E=1875h
D E=1225h

A baker made two cakes of the same

Atthe end of the day, there was 2 of a chocolate cake left.

There was £ of a strawberry cake left.

The baker divided the remaining chocolate cake into 2 equal pieces

and the remaining strawberry cake into 3 equal pieces. il 0
900 AM

1/19/2014

e

Which cake flavor had larger pieces and by how much?

A chocolate by 1 of a cake
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29 Laura's yard is in the shape of a square and a half-circle.

a

7m
What is the approximate area of Laura’s yard?
A 36m?

402 m?

B
c  siem?
D

743 m?

Hillary and Devin will Collect data to find out where the seventh-grade students
should take their field trip. Which group should Hillary and Devin survey to collect
the best data?
A the first 25 students through the lunch line
B ten random people from each seventh-grade class
C  allthe students in a dance class
D twenty of their friends
1/19/2014
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Geometric Probability

Your friend has an interesting collection of dartboards. If you throw a dart at
random and it is guaranteed to hit the dartboard but you only get a point if it hits
‘the shaded region, what is the probability that you will get a point on the
dartboard below?

Determine the area of the entire dartboard.

Determine the area of the shaded region.

Determine the probability by comparing the area of the shaded region to the area
of the entire dartboard. Be sure to convert your probability to a percent.

area of the shaded region

area of the entire dartboard
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